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1. Determine the tension in each cable and the components of reaction at D needed
to support the load. Draw the proper free body diagram of the structure
and use Cartesian Vector Analysis during the solution. Hint: The ap-
plied force acts in two planes only (30 POINTS).
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2. Determine the force in members ED, EH, and GH of the fruss, and state if the
members are in tension or compression. Draw the proper free body diagram(s)
during your solution (20 POINTS).
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3. If the 300-kg drum has a center of mass at point G, determine the horizontal and
vertical components of force acting at pin A and the reactions on the smooth
pads C and D. The grip at B on member DAB resists both horizontal
and vertical components of force at the rim of the drum. Draw the
necessary free body diagrams of the elements for the solution (25 POINTS).
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4. Draw the shear and moment diagrams for the beam. Draw the free body di-
agrams of the relevant sections to guide you for the solution process.

It is compulsory to clearly write the V(z) and M(z) expressions for the
relevant sections (25 POINTS).
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